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proc main
mov r0, O

ret
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proc sum3
add r0, r0, rl
add r0, r0, r2
ret

proc main
call iget, r3
call iget, rl
call iget, r2
call sum3, r3, rl, r2
call iput, r3
mov r0, O
ret
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mov rl, r2 S5y Tl 4l r2 s lade
mov rl, 5 W20 oo B 0 vae pllyrl e
add r1, r2, r3 D20 ooyl Brl 5] r3 912 gz Jol>
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mul rl, r2, r3 Ao oo B rl ol r34r2 0y ol
div rl, r2, r3 W2 ooyl Brl o |r3 Hr2 e Jol>
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call iget, rl
call iput, rl
call mem, rl

call rel, rl
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mov
ret

proc main
call
call

iget, rO0
iput, rO
r0, O
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proc main

mov
call
mov
st
1d
call
mov

ret

rl, 32
mem, rl
r2, 5
r2, rl
r3, rl
rel, rl
r0o, O

# write r2 to *rl

# read r3 from *rl
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proc main

call
call
cmp<
jz
mov
out:

call
mov
ret

iget, rO
iget, ril
r2, r0, rl
r2, out
r0, rl

iput, rO
r0, O
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proc smaller

mov

B:
1d
cmp<
add
sub
add
jnz
ret

r0o, O

r6, r4
r7, r6, rl
r4, r4, r2
r3, r3, r2
r0, r0, r7
r3, B

proc main

mov
mov
mov
mov
call
mov

call
st
add
sub
jnz
mov

1d
call
cmp=
jnz
sub
cmp>=
jz

call
ret

r4, 8
r5, 5
rll, 88
rl2, 88
mem, rl2
rl3, rl2

iget, rO0

r0, ril2

rl2, rl2, r4
rll, rll, r4
rll, A

rll, 88

r7, rl2
smaller, r6,
r8, r6, r5
r8, E

rl2, rl2, r4
r3, rl3, rl2
r3, D

iput, r7

r4,

rll,

rl3
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proc main

mov
call
mov
mov
mov
add

call
st
mov

sub
cmp>
jnz
1d
cmp>
jnz
st
add
st
sub
cmp<=
jnz
out:
add
cmp<=
jnz
mov
add
1d
call
ret

r0, 88
mem, r0
rl, r0

r2, 8

r3, 80

r3, r3, r0

iget, r5
r5, rl
rll, rl

rll, rll, r2
r4, r0, rll
r4, out

r6, rll

r7, r5, ré6
r7, MvV2

r5, rll

rll, rll, r2
r6, rll

rll, rll, r2
r8, r0, rll
r8, Mv2

rl, rl, r2
rl6é, rl, r3
rlé, MV

r9, 40

r0, r0, r9
r9, ro0
iput, r9
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proc main

mov
mov
mov
mov
call
gtal:
call
st
add
sub
jnz
mov
mov
gta2:
mov
sub
mov
1d
gta4:
jz
sub
1d
cmp>
add
jz
add
jmp
gtaé6:
cmp=
sub
jz
call
ret

rl, 88
r2, 11
r3, 8
r4d, 1
mem, rl

iget, r5
r5, rl

rl, rl, r3
r2, r2, r4
r2, gtal
rl2, 5

r6, rl

rl3, 88
r6, r6, rl3
rl4, O
rl7, rl

rl3, gtaé
rl3, rl3, r3
rlé, ré6

rl8, rl6, rl7
r6, r6, r3
rl8, gta4
rl4, rl4, r4
gta4

rl5, rl4, rl2
rl, rl, r3
rl5, gta2
iput, rl7
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proc main

mov
mov
mov
mov
mov
call
mov
mov
mov

input:
call
st
st
add
add
sub
jnz
mov
mov

forl:
cmp=
jnz
mov
mov
mov

for2:

cmp<
jz
mov
mov
1d
1d
add
cmp>
add
jz
add
jmp

for2end:

cmp=
jnz
add
add
jmp

print:
1d
call
ret

r4l, 88
rd44, 8
rll, 1
rl, 88
r55, 5
mem, rl
r2, rl
rlll, rl
r3, 11

iget, r4
r4, rl

r4, r2

rl, rl, r44
r2, r2, r44
r3, r3, rll
r3, input
rl, rlll
r6, 0

r5, r6, r4l
r5, print
rl00, O

r7, 0

r2, rlll

r5, r7, r4l
r5, for2end
rl2, O

rl3, O

rl2, rl

rl3, r2

r7, r7, r4d4
r5, rl2, rl3
r2, r2, r44
r5, for2
rl00, rl100, rl1l
for2

r5, rl00, r55
r5, print

r6, r6, r4d4
rl, rl, r44

forl
rl4, rl
iput, rl4
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proc help
call iget, r2

A:
mod r3, r0, r2
mov r0, r2
mov r2, r3

jnz r2, A
ret
proc main

call iget, rl
call help, rl
call help, rl
call iput, rl
ret
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proc main
call iget, rO
call iget, rl
call iget, r2
call gcd2, r0, rl
call gcd2, r0, r2
call iput, rO
ret

proc gcd2
mod r2, rl, r0
jz r2, OUT
call gcd2, r2, r0
mov r0, r2

OUT:

ret
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proc main

call
Q:

call

cmp<

jz

mov

mov
mov
jz

loop:
mod
jmp

jnz
mov
jmp
out:
call
ret

iget, rl
iget, ro0
r2, rl, r0
r2, loop
r3, rl

rl, r0

r0, r3

r3, s

r3, rl, r0
m

r4, out
r4d, 1

Q

iput, rl

AR
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proc main

call
call
call
call
call
call
ret

proc gcd

begin:
cmp>
jz
mov
mov
mov

jz
mod
jmp
end:
ret

iget
iget
iget
ngl
ngl
iput

r2,
r2,
ro,
rl,

rl,
ro,

, r0

rl

r2
r0, rl
r0, r2
, r0

4

4

rl, r0
do
r0
rl
r2

end
r0, rl

begin
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proc main

call
call
call
call
call
call
ret

proc gcd

cmp>
jz
mov
mov
mov
cnt:
loop:
mod
jz
mov
mov
jmp
out:
ret

iget
iget
iget
ngl
ngl
iput

r4,
r4,
r5,
ro,
rl,

r6,
r6,
rl,
ro,

loop

, rl
, r2
, r3
rl,
rl,
, rl

ro,
cnt
r0
rl
r5

rl,
out
r0
r6

r2
r3

rl

r0
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proc main

call
call
call
mov
mov
first:
cmp==
jz
mov
jnz
bnext:
cmp==
jnz
mov
mod
mov
jmp
next:
jnz
mov
mov
jmp
finish:
call
ret

iget, rl
iget, r2
iget, r3
r0o, O

r4, O

r5, rl, r0
r5, bnext
rl, r2

r5, next
r5, r2, r0
r5, next
r5, r2

r2, rl, r2
rl, r5
first

r4, finish
r4d, 1

r2, r3
first
iput, rl
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proc main

mov r0, 8
mov rl, 8
mov r2, 8
call mem, rO
call mem, rl
call mem, r2
call iget, r3
call iget, r4
call iget, r5
st r3, r0
st r4, rl
st r5, r2
call findmin, r0, rl
call gcd, r0, rl
call findmin, r0, r2
call gcd, r0, r2
1d r6, r0
call iput, ré6
ret
proc findmin
1d r2, r0
1d r3, rl
cmp<= r4, r2, r3
jnz r4, outl
st r3, r0
st r2, rl
outl:
ret
proc gcd
1d r2, r0
1d r3, rl
op:
mod r4, r3, r2
jz r4, out2
mov r3, r2
mov r2, r4
out2:
st r2, r0
ret
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